Hc Y OE 7 ? < P ‘\/\coa IR Mo < 2 ,k'{o
M, = 98.39

= 1r 120l v D w i DD
> = HY- DL g el
(—\CO"L: u b= :9‘:3% ) T D (,ﬂL‘tB mok
A LY DY 9lewt

\4/("51; Mm% LA\I =

0-t42 el » 224 L/Ml - uH L
. oo M
oMy, - 7 ]_W My = o Mo
N = L’*%HL— )~ |“l-\3\
N - . '
5 ’2_,%.’02_3|m\,
N, - N - L2l = 3950 «
NV T . \—‘\M\
Mu, = e M= 2950 sl x 2502 9ll = 85 L L.
B ™ = 0. .5DLq ;5--[‘(3.
Vo= 12¥ L = DML
= M. = 0\3% L = 0 00598@) wl
NV 20 M | mel
f\’\.— AT O. D029 = gqu cj(rvvc;l g |<r'LJP+Gﬂ
N 0' DD SAB@ .y
\/ = [-5BL
N, - M = L9520 = D oLLY4E sl
MV 449 Lo |
P(\.\‘t e -

23 22
Ny Na - 0. OB wt x b2 0 akms a3k 10

s\ no 5



